
Ød1 x lP

250 M14 x 270

N

120

F2

550

F1

1100

N°
BOLTS

4

HA

400

HE

360

HD

580

HL

180

L4

80

HBN°

2

HH

1.5

940

LA

l
m ød1

ANCHOR BOLT

Top of scarfield
foundation

n°2holes ø14

11
0

320

n°4holes ø14

L

F1
HB

HDHL HL

19
0

70

LBØ d2P 4P

24
2.2

232100 L 3.0
2.2
3.0

28

4.0
5.5
7.5

132 M 9.2 7.5 38

Pump :

132 S 5.5 38

IN

OUT

F2

HA
HE

2

13
2

16
0

DN 25 -(1")

D
N

 4
0 

-(1
" ½

)

1

ød

724

27

8

  N

80 385 100 L

LA
H

H

H
L4

P

LB

STANDARD

Interval 20000 hours
Ball Bearing Greased For Life

OPTIONAL

EXXON TERESSO
quantity 50 cc - Interval 3000 hours

OIL

(Kg )
Weight

--

50

Joint :

JOINT

RU-STEEL AD   31-100

4.76

24
.3

4

22.22 4.
76

DIN ANSI 45

5

90 S 1.1

H

90
90 L 1.5

100

112 M 4.0 28 112

132

132

m

40

OUTLINE DRAWING CODE: D14373   Rev.:00

150
110

n°4 STUD BOLT M16

DN 40
(SUCTION ) (DISCHARGE )

DN 25

n°4 STUD BOLT M12

85
115

107.9
79.4

n°4 STUD BOLT M14

DN 1"
(DISCHARGE )(SUCTION )

DN 1"1/2

n°4 STUD BOLT M14

98.4
127

33

44



Ød1 x lP

250 M14 x 270

N

120

F2

550

F1

1100

N°
BOLTS

4

HA

400

HE

360

HD

580

HL

180

L4

80

HBN°

2

HH

1.5

940

LA

l
m ød1

ANCHOR BOLT

Top of scarfield
foundation

n°2holes ø14

11
0

320

n°4holes ø14

L

F1
HB

HDHL HL

19
0

70

LBØ d2P 4P

24
2.2

260100 L 3.0
2.2
3.0

28

4.0
5.5
7.5

132 M 9.2 7.5 38

Pump :

132 S 5.5 38

IN

OUT

F2

HA
HE

2

16
0

18
0

1

ød

724

27

8

  N

80 385 100 L

LA
H

H

H
L4

P

LB

STANDARD

Interval 20000 hours
Ball Bearing Greased For Life

OPTIONAL

EXXON TERESSO
quantity 50 cc - Interval 3000 hours

OIL

(Kg )
Weight

--

50

Joint :

JOINT

RU-STEEL AD   31-100

4.76

24
.3

4

22.22 4.
76

DIN ANSI 68

5

90 S 1.1

H

90
90 L 1.5

100

112 M 4.0 28 112

132

132

m

40

OUTLINE DRAWING CODE: D14374   Rev.:00

150
110

n°4 STUD BOLT M16

DN 40
(SUCTION ) (DISCHARGE )

DN 25

n°4 STUD BOLT M12

85
115

107.9
79.4

n°4 STUD BOLT M14

DN 1"
(DISCHARGE )(SUCTION )

DN 1"1/2

n°4 STUD BOLT M14

98.4
127

44

33

DN 25 -(1")

D
N

 4
0 

-(1
" ½

)

































220
180

n°8 Holes ø18

DN 100
(SUCTION ) (DISCHARGE )

DN 65

n°4 Holes ø18

145
185

Ød1 x lP

250

M16 x 270

N

120

F2

550

F1

1250

N°
BOLTS

4

HA

400

HE

360

HD

700

HL

200

L4HBN°

3

HH

5.5
1100

LA

l
m ød1

ANCHOR BOLT

Top of scarfield
foundation

n°2holes ø14

11
0

417.5

n°4holes ø14

L

F1
HB

HDHL HL

21
2

95

LBØ d2P 4P

38
7.5

280
9.2 7.5

11.0
38

15.0
18.5
22.0

180 L - 22.0 48

Pump :

IN

OUT

F2

HA
HE

2

16
0

20
0

DN 65 - (3" )

D
N

 1
00

 - 
(4

" )

1

ød

  N

100 500 100 L

LA
H

H

H
L4

P

LB

STANDARD

Interval 20000 hours
Ball Bearing Greased For Life

OPTIONAL

EXXON TERESSO
quantity 350 cc - Interval 3000 hours

OIL

(Kg )
Weight

--

80

Joint :

JOINT RU-STEEL    

85

10   /   15

H

1325.5

132

-
42

160

180

200 L
30.0
37.0 -30.0

55 200

4

345

1400 1000

250

-- 1550100

m

M18 x 270

60

P ≤37 Kw AD 41-100

P >37 Kw AD 51-100

132 S

132 M

160 M
11.0

160 L 15.0 48
180 M 18.5 48

225 S
225 M

-
45.0

37.0
45.0

60
55

225

250 M 55.0 - 60 250 5 375 1550 1050

460

510

500

550 1700

650

700

229
190.5

n°8 Holes ø19

DN 4"
(SUCTION ) (DISCHARGE )

DN 3"

n°4 Holes ø16

152.4
190.5

ANSIDIN

6.
3528.58

31
.4

6.3510

35

32 8

320

300

OUTLINE DRAWING CODE: D10174   Rev.:01
































































